58 J) AL IST—

Bif|@BB| XVN\—HE EI5—BE =& PRS- BS
1 K 6,380 10,380M 2B+2,500M/1 A
21 K 6,380 10,3808 28+2,5008/1A
3 e rd 6,380M 10,3808 2B+2,500M/1A
4 | £ 6,380M 12,880M 2B+2.500//1A
518 6,380 12,880/ 2B+2,500/1A BHE A H ‘cp~14)
c| B 6,380 10,380M 28+2,500M/1 A
7 | W | 54808 EEM 8,480M (B&{Y) 28 (RIDEIEEL
8 7K 5,480 (BEfY) 8,480 (RE(Y) 2B (RED) &8 L Y=P U514 =2 (H ‘oo ~40)
O| K 5,480A (B&fH) 8,480 (BRE1Y) 2B(RIDBNETL
10| & | 8ooOm(EEM | 10500 (EE) 2B RIBEEEL BB Y T
111 = 6,380 12,880/ 2B+2,500M/1A
121 B8 6,380M0 12,880M 2B+2,500M/1A BHF B (H ‘cp 15~40)
13| B | s4s0mEEM) 8,480 (BEY) 2B (RED UL
14| W | 54808 EEf) 8,480 (BRE&Y) 28 (RIDBEEL HES (H ‘cp ~14)
15 Kk | 54808 (EEfM 84801 (R&f) 2B (R BNEB L
16| K | 5480REERM) 8,480 (B&f) 2B (RIDBET L
17| &€ | 54808 EEN 8,480 (R&Y) 28 (REDBETL EDER
18| £ 6,380 12,880/ 2B+2,500M/1 A
19| 8 6,380M 12,880M 2B+2500M/1A  |YZPRFE FB' (H cp-20)
20| B 5,480M (R&f) 8,480 (B& ) 2B (RIS
21| W | 54808 EEMW 8,480M (B&Y) 28 (RED BT L
22| Kk | 54808 EEM 8,480 (R&Y) 28 (RED BB L TBAFHK H ‘co ~40)
23| K | 54808 EEM) 8,480 (BEY) 2B (RED UL
24| & | 5480H(EEN 8,480 (R&Y) 28 (R8T L
25| = 6,380 12,880 2B+2,500/8/1A
26| H 6,380 12,8804 2B+2,500//1 A YT PRFE R
27| B | 5480H(EEN 8,480 (R&Y) 28 RE ML
28| W | s4s0mEEN 8,480/ (B&Y) 2B (RIDBEEL
29| Kk | 54808 EEf) 8,480 (RE ) 2B(RDAMETL KEEFR
30| & | s480mEEM 8,480 (B& ) 2B (RIS
31| € | s5480AEEM 8,480 (B&Y) 2B R




